AP Calculus BC
Unit 9 — Review
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1. Determine whether the sequence {_Zn} converges. Justify your answer.
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3. Evaluate the sum: ;(n—li-l niS]
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For which of the following is the nth Term Test for Divergence appropriate? Explain. (There may be
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Use the indicated test to determine whether the series converges or diverges. If that test is not appropriate

explain why. If it is possible to find the value to which the series converges, do so
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(d) Integral Test: Z on
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(g) Limit Comparison: Z n+6

(h) Limit Comparison: ZT_)
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5. How many terms are needed to approximate Z L to within 0.001?7
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6. Consider the sequence .
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a. Show the sequence is monotonic for all 7 > 1.
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b. Is the sequence bounded? Justify your answer.
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c. Does the sequence converge? Give a reason for your answer.
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7. Does the sequence {%%))'} converge or diverge? Explain. If it converges, find its limit.
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CONVERGENCE/DIVERGENCE OF SERIES: Determine whether each series converges or diverges.
Show the work and identify the test that you use to confirm your answer.
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18. Find the number of terms necessary to approximate the sum of the series 22(_—14 with an error
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less than 0.0001. (Yes, you can figure this out by hand!)
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19. What are all values of p for which the infinite series 2 converges? Explain your answer,
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20. Determine whether the series Z Tn is convergent or divergent. If convergent, classify the series as
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absolutely or conditionally convergent. Show the work that leads to your answer.
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